K1672_D

oI~ S8, EI D, &= Ul & U, HEUS

JI'I
MK
- |
f'

= 8Y/HMIZ olo|x]

o

ks

HE M3
QlE|A ERix{s ME210 2 0I5 &2 SIxI7} Hat
9IsH AL EILICH &3
3 9Ixls HWEY £

ol
= AL
of T Elo] &3 Elo| Hel %2 Sot2 4EYE |XISGHE S L.

238 Fo| Qx| ye g Nz uy XHXEI:
Ly’
N Q| (N 1.0503 &3 bt
RAL7021 RAL 2004 RAL 1021 RAL 3020 L'I-A}- % |E E_J xD}-% -\_Iil, iH éll- 70}-
HE =4 EEEEE) T 14310 I%I-Z_Tls QE%
N N * PAQ7tAN B3 HH A,
RAL 6032 RAL 5017 RAL 7035
"._ O EI

El-%k?_l‘ AH77I-o| KI-:L l:||- H
- El2 3|M RAL 7021

- ZEAM RAL 2004

- B2 =M RAL 1021

- A3 5 WZAH RAL 3020

- A2 =4 RAL 6032
I} 2-A RAL 5017

|4 RAL 7035

=
ok fol
ol 0| fl

A

B3 HHE 180° S2/H &3 Elo| Me
ZotAaE He H3 ot S

FLIALR E2.

Jdo
A
Hu
Ml
o

o
r
o

AL

20E HE.

HMIME:
2ol #& K0638.
zx)dd 24 K1290, K1839, K1840.

L1

gy

Sw

e

N
B1

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/4



K1672_D

°
el
oA =R, ER| D, & Hl Y U, UE US
Z= 29
FEHS Et el THE MY D DT D2 L L1 L3 B BT HSW Fx30° A& Ehd
EtM =5
F19 N F29. N

K1672.070410 D 43| M RAL 7021 4 M10 10 39,5 26,3 20 10,9 49 6 17 1 8 14
K1672.0704101 D A3|M RAL 7021 4 M10x1 10 39,5 26,3 20 10,9 49 6 17 1 8 14
K1672.070510 D 3| M RAL 7021 5 M10 10 39,5 26,3 20 10,9 49 6 17 1,3 8 14
K1672.0705101 D 3| M RAL 7021 5 M10x1 10 39,5 26,3 20 10,9 49 6 17 1,3 8 14
K1672.070610 D A3|M RAL 7021 6 M10 10 39,5 26,3 20 10,9 49 6 17 1,8 8 14
K1672.0706101 D 3| M RAL 7021 6 M10x1 10 39,5 26,3 20 10,9 49 6 17 1,8 8 14
K1672.070512 D 3| M RAL 7021 5 M12 12 48,4 31,1 25 12,9 57 8 19 1,3 8 15
K1672.0705121 D 3| M RAL 7021 5 M12x1,5 12 484 31,1 25 129 57 8 19 1,3 8 15
K1672.070612 D 3| M RAL 7021 6 M12 12 48,4 31,1 25 12,9 57 8 19 1,8 8 15
K1672.0706121 D 3| M RAL 7021 6 M12x1,5 12 484 31,1 25 129 57 8 19 1,8 8 15
K1672.070812 D A3|M RAL 7021 8 M12 12 48,4 31,1 25 12,9 57 8 19 23 8 15
K1672.0708121 D 3| M RAL 7021 8 M12x1,5 12 484 31,1 25 12,9 57 19 23 8 15
K1672.070616 D A3|M RAL 7021 6 M16 16 62,3 41,5 32 166 7 24 1,8 15 35
K1672.0706161 D A3|M RAL 7021 6 M16x1,5 16 62,3 41,5 32 166 7 24 1,8 15 35
K1672.070816 D 3| M RAL 7021 8 M16 16 62,3 41,5 32 16,6 7 24 23 15 35
K1672.0708161 D 43| M RAL 7021 8 M16x1,5 16 62,3 41,5 32 166 7 24 23 15 35
K1672.071016 D A3|M RAL 7021 10 M16 16 62,3 41,5 32 166 7 24 28 15 35
K1672.0710161 D 3| M RAL 7021 10 M16x1,5 16 62,3 41,5 32 166 7 24 28 15 35
K1672.070820 D 3| M RAL 7021 8 M20 20 72,3 51,3 35 20,5 8,5 30 23 20 60
K1672.0708201 D A3|M RAL 7021 8 M20x1,5 20 72,3 51,3 35 20,5 8,5 30 23 20 60
K1672.071020 D 3| M RAL 7021 10 M20 20 72,3 51,3 35 20,5 8,5 30 28 20 60
K1672.0710201 D 3| M RAL 7021 10 M20x1,5 20 72,3 51,3 35 20,5 8,5 30 28 20 60
K1672.071220 D 3| M RAL 7021 12 M20 20 72,3 51,3 35 20,5 8,5 30 3 20 60
K1672.0712201 D 3| M RAL 7021 12 M20x1,5 20 72,3 51,3 35 20,5 8,5 30 3 20 60
K1672.0704102 D Fo0{ 2&IX| RAL 2004 4 M10 10 39,5 26,3 20 10,9 49 6 17 1 8 14
K1672.07041012 D Fo0{ 2FIX| RAL 2004 4 M10x1 10 39,5 26,3 20 10,9 49 6 17 1 8 14
K1672.0705102 D Fo0{ 23X| RAL 2004 5 M10 10 39,5 26,3 20 10,9 49 6 17 1,3 8 14
K1672.07051012 D Fo{ 2&IX| RAL 2004 5 M10x1 10 39,5 26,3 20 10,9 49 6 17 1,3 8 14
K1672.0706102 D Foi 2X| RAL 2004 6 M10 10 39,5 26,3 20 10,9 49 6 17 1,8 8 14
K1672.07061012 D Fo0{ 23X| RAL 2004 6 M10x1 10 39,5 26,3 20 10,9 49 6 17 1,8 8 14
K1672.0705122 D Fof Qx| RAL 2004 5 M12 12 48,4 31,1 25 12,9 57 8 19 1,3 8 15
K1672.07051212 D Foi 23X| RAL 2004 5 M12x1,5 12 484 31,1 25 129 57 8 19 1,3 8 15
K1672.0706122 D Fo{ 23X| RAL 2004 6 M12 12 48,4 31,1 25 12,9 57 8 19 1,8 8 15
K1672.07061212 D Fof Qx| RAL 2004 6 M12x1,5 12 484 31,1 25 129 57 8 19 1,8 8 15
K1672.0708122 D Foi 23X| RAL 2004 8 M12 12 48,4 31,1 25 12,9 57 8 19 23 8 15
K1672.07081212 D Fo0{ 23X| RAL 2004 8 M12x1,5 12 484 31,1 25 129 57 8 19 23 8 15
K1672.0706162 D Fo{ 2&IX| RAL 2004 6 M16 16 62,3 41,5 32 16,6 7 10 24 1,8 15 35
K1672.07061612 D Fof 23X| RAL 2004 6 M16x1,5 16 62,3 41,5 32 166 7 10 24 1,8 15 35
K1672.0708162 D Fo0i{ 23X| RAL 2004 8 M16 16 62,3 41,5 32 16,6 7 10 24 2,3 15 35
K1672.07081612 D Fo{ 2&IX| RAL 2004 8 M16x1,5 16 62,3 41,5 32 1666 7 10 24 23 15 35
K1672.0710162 D Foi{ 23X RAL2004 10 M16 16 62,3 41,5 32 16,6 7 10 24 28 15 35
K1672.07101612 D F0{ 23X RAL2004 10 M16x1,5 16 62,3 41,5 32 166 7 10 24 28 15 35
K1672.0708202 D Fo{ 2&IX| RAL 2004 8 M20 20 72,3 51,3 35 20,5 8,5 12 30 23 20 60
K1672.07082012 D Foi 23X| RAL 2004 8 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 23 20 60
K1672.0710202 D Fo{ 23X RAL2004 10 M20 20 72,3 51,3 35 20,5 8,5 12 30 2,8 20 60
K1672.07102012 D Foi{ 27X RAL2004 10 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 28 20 60
K1672.0712202 D Fo{ 23X RAL2004 12 M20 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60
K1672.07122012 D F0{ 23X RAL2004 12 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60
K1672.07041016 D gr2 =3 RAL 1021 4 M10 10 39,5 26,3 20 10,9 49 6 17 1 8 14
K1672.070410116 D gk 2 RAL 1021 4 M10x1 10 39,5 26,3 20 10,9 49 6 17 1 8 14
K1672.07051016 D g2 =2 RAL 1021 5 M10 10 39,5 26,3 20 10,9 49 6 17 1,3 8 14
K1672.070510116 D gr2 =3 RAL 1021 5 M10x1 10 39,5 26,3 20 10,9 49 6 17 1,3 8 14
K1672.07061016 D gk 2 RAL 1021 6 M10 10 39,5 26,3 20 10,9 49 6 17 1,8 8 14
K1672.070610116 D g2 =2 RAL 1021 6 M10x1 10 39,5 26,3 20 10,9 49 6 17 1,8 8 14
K1672.07051216 D ghe -2 RAL 1021 5 M12 12 48,4 31,1 25 12,9 57 8 19 1,3 8 15
K1672.070512116 D gk 2 RAL 1021 5 M12x1,5 12 484 31,1 25 129 57 8 19 1,3 8 15
K1672.07061216 D ghe 2 RAL 1021 6 M12 12 48,4 31,1 25 12,9 57 8 19 1,8 8 15
K1672.070612116 D gh2 2 RAL 1021 6 M12x1,5 12 484 31,1 25 129 57 8 19 1,8 8 15
K1672.07081216 D ghe -2 RAL 1021 8 M12 12 48,4 31,1 25 12,9 57 8 19 23 8 15
K1672.070812116 D ghe 2 RAL 1021 8 M12x1,5 12 484 31,1 25 129 57 8 19 23 8 15
K1672.07061616 D gh2 2 RAL 1021 6 M16 16 62,3 41,5 32 16,6 7 10 24 1,8 15 35

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  2/4



K1672_D

°
el
oA =R, ER| D, & Hl Y U, UE US
Z= 29

FEHS Et el THE MY D DT D2 L L1 L3 B BT HSW Fx30° A& Ehd
Bt =

F19%. N F22. N
K1672.070616116 D gfe =3 RAL 1021 6 M16x1,5 16 62,3 41,5 32 166 7 10 24 1,8 15 35
K1672.07081616 D g2 & RAL 1021 8 M16 16 62,3 41,532 166 7 10 24 23 15 35
K1672.070816116 D g2 =3 RAL 1021 8 M16x1,5 16 62,3 41,5 32 166 7 10 24 23 15 35
K1672.07101616 D gre =3 RAL 1021 10 M16 16 62,3 41,532 166 7 10 24 28 15 35
K1672.071016116 D g2 & RAL 1021 10 M16x1,5 16 62,3 41,5 32 16,6 7 10 24 2,8 15 35
K1672.07082016 D g2 =3 RAL 1021 8 M20 20 723 51,3 35 20,5 8512 30 23 20 60
K1672.070820116 D gre =3 RAL 1021 8 M20x1,5 20 72,3 51,3 35 20,5 8512 30 2,3 20 60
K1672.07102016 D g2 2 RAL 1021 10 M20 20 72,3 51,3 35 20,5 8,5 12 30 2,8 20 60
K1672.071020116 D g2 =3 RAL 1021 10 M20x1,5 20 72,3 51,3 35 20,5 85 12 30 2,8 20 60
K1672.07122016 D gre =3 RAL 1021 12 M20 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60
K1672.071220116 D g2 =& RAL 1021 12 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60
K1672.07041084 D LSS WZRAL3020 4  M10 10 39,5 26,3 20 10,9 49 6 17 1 8 14
K1672.070410184 D A= S Wz RAL 3020 4 M10x1 10 39,5 26,3 20 10,9 49 6 17 1 8 14
K1672.07051084 D A= S Wz RAL 3020 5 M10 10 39,5 26,3 20 10,9 49 6 17 1,3 8 14
K1672.070510184 D 4SS WZ RAL 3020 5 M10x1 10 39,5 26,3 20 10,9 49 6 17 13 8 14
K1672.07061084 D 4= S Wz RAL 3020 6 M10 10 39,5 26,3 20 10,9 49 6 17 1,8 8 14
K1672.070610184 D 4SS Wz RAL 3020 6 M10x1 10 39,5 26,3 20 10,9 4,9 6 17 1,8 8 14
K1672.07051284 D 43S WZ RAL 3020 5 M12 12 484 31,1 2512957 8 19 13 8 15
K1672.070512184 D 4= S Wz RAL 3020 5 M12x1,5 12 48,4 31,1 25 12,9 5,7 8 19 1,3 8 15
K1672.07061284 D 45 S Wz RAL 3020 6 M12 12 48,4 31,1 256 12,9 57 8 19 1,8 8 15
K1672.070612184 D 43S WZ RAL 3020 6 M12x1,5 12 484 31,1 25 129 57 8 19 1,8 8 15
K1672.07081284 D 4= S Wz RAL 3020 8 M12 12 48,4 31,1 25 129 57 8 19 2,3 8 15
K1672.070812184 D 45 S Wz RAL 3020 8 M12x1,5 12 48,4 31,1 25 12,9 57 8 19 2,3 8 15
K1672.07061684 D 43S WZ RAL 3020 6 M16 16 62,3 41,532 166 7 10 24 18 15 35
K1672.070616184 D A= S Wz RAL 3020 6 M16x1,5 16 62,3 415 32 16,6 7 10 24 1,8 15 35
K1672.07081684 D 4SS Wz RAL 3020 8 M16 16 623 41532 166 7 10 24 23 15 35
K1672.070816184 D 43S WZ RAL 3020 8 M16x1,5 16 62,3 41,532 16,6 7 10 24 23 15 35
K1672.07101684 D 4= S Wz RAL 3020 10 M16 16 62,3 41,5 32 166 7 10 24 2,8 15 35
K1672.071016184 D LSS WZ RAL3020 10 M16x1,5 16 62,3 41,532 16,6 7 10 24 28 15 35
K1672.07082084 D 43S WZ RAL 3020 8 M20 20 72,3 51,3 352058512 30 23 20 60
K1672.070820184 D 4= S Wz RAL 3020 8 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 2,3 20 60
K1672.07102084 D LSS WZRAL3020 10 M20 20 72,3 51,3 35 20,5 8512 30 28 20 60
K1672.071020184 D LSS WZ RAL3020 10 M20x1,5 20 72,3 51,3 35 20,5 8512 30 28 20 60
K1672.07122084 D 4= S Wz RAL 3020 12 M20 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60
K1672.071220184 D A S WZ RAL3020 12 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60
K1672.07041086 D Alad =MRAL6032 4 M10 10 39,5 26,3 20 10,9 49 6 17 1 8 14
K1672.070410186 D Alad =M RAL 6032 4 M10x1 10 39,5 26,3 20 10,9 49 6 17 1 8 14
K1672.07051086 D Al =4 RAL 6032 5 M10 10 39,5 26,3 20 10,9 49 6 17 13 8 14
K1672.070510186 D Alad =4 RAL 6032 5 M10x1 10 39,5 26,3 20 10,9 49 6 17 13 8 14
K1672.07061086 D Alad =4 RAL 6032 6 M10 10 39,5 26,3 20 10,9 49 6 17 1,8 8 14
K1672.070610186 D Al =4 RAL 6032 6 M10x1 10 39,5 26,3 20 10,9 49 6 17 18 8 14
K1672.07051286 D Alad =4 RAL 6032 5 M12 12 484 31,1 2512957 8 19 13 8 15
K1672.070512186 D Al =M RAL 6032 5 M12x1,5 12 484 31,1 25 12957 8 19 13 8 15
K1672.07061286 D Al =4 RAL 6032 6 M12 12 484 31,1 2512957 8 19 18 8 15
K1672.070612186 D Alad =4 RAL 6032 6 M12x1,5 12 484 31,1 25 129 57 8 19 18 8 15
K1672.07081286 D Al =M RAL 6032 8 M12 12 484 31,1 2512957 8 19 23 8 15
K1672.070812186 D Al =4 RAL 6032 8 M12x1,5 12 484 31,1 25 129 57 8 19 23 8 15
K1672.07061686 D Al =4 RAL 6032 6 M16 16 62,3 41532 166 7 10 24 18 15 35
K1672.070616186 D Al =4 RAL 6032 6 M16x1,5 16 62,3 41,532 166 7 10 24 1,8 15 35
K1672.07081686 D Al =4 RAL 6032 8 M16 16 62,3 41532 166 7 10 24 23 15 35
K1672.070816186 D Al =4 RAL 6032 8 M16x1,5 16 62,3 41,532 16,6 7 10 24 23 15 35
K1672.07101686 D Alad =M RAL 6032 10 M16 16 62,3 41,5 32 166 7 10 24 2,8 15 35
K1672.071016186 D Alad =MRAL6032 10 M16x1,5 16 62,3 41,532 16,6 7 10 24 28 15 35
K1672.07082086 D Alad =M RAL 6032 8 M20 20 723 51,3 352058512 30 23 20 60
K1672.070820186 D Alad =M RAL 6032 8 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 2,3 20 60
K1672.07102086 D Alad =MRAL6032 10 M20 20 72,3 51,3 35 20,5 8512 30 28 20 60
K1672.071020186 D Alad =M RAL 6032 10 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 2,8 20 60
K1672.07122086 D Alad =M RAL 6032 12 M20 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60
K1672.071220186 D Alad =M RAL6032 12 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60
K1672.07041087 D 4= S T RAL 5017 4 M10 10 39,5 26,3 20 10,9 49 6 17 1 8 14
K1672.070410187 D 4= S ot RAL 5017 4 M10x1 10 39,5 26,3 20 10,9 49 6 17 1 8 14

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  3/4



K1672_D

()
“
ES Y%

FEHS Eted TYEE MY D DI D2 L L1 L3 B BT HSW Fx30° AR ey
EtM e

F12E N F22. N
K1672.07051087 D AE S ubg RAL 5017 5 M10 10 39,5 26,3 20 10,9 49 6 17 1,3 8 14
K1672.070510187 D AE S o RAL 5017 5 M10x1 10 39,5 26,3 20 10,9 49 6 17 1,3 8 14
K1672.07061087 D A2 S o3 RAL 5017 6 M10 10 39,5 26,3 20 10,9 49 6 17 1,8 8 14
K1672.070610187 D AS S o RAL 5017 6 M10x1 10 39,5 26,3 20 10,9 49 6 17 1,8 8 14
K1672.07051287 D A5 S g RAL 5017 5 M12 12 48,4 31,1 25 129 57 8 19 1,3 8 15
K1672.070512187 D A2 S o3 RAL 5017 5 M12x1,5 12 48,4 31,1 25 129 57 8 19 1,3 8 15
K1672.07061287 D AS S o RAL 5017 6 M12 12 48,4 31,1 25 129 57 8 19 1,8 8 15
K1672.070612187 D AS 5 mE RAL 5017 6 M12x1,5 12 484 31,1 25 129 57 8 19 1,8 8 15
K1672.07081287 D AE S o3 RAL 5017 8 M12 12 48,4 31,1 25 129 57 8 19 2,3 8 15
K1672.070812187 D AMS S o RAL 5017 8 M12x1,5 12 48,4 31,1 25 129 57 8 19 2,3 8 15
K1672.07061687 D AE S o RAL 5017 6 M16 16 62,3 41,5 32 16,6 7 10 24 1,8 15 35
K1672.070616187 D AE S o3 RAL 5017 6 M16x1,5 16 62,3 41,5 32 166 7 10 24 1,8 15 35
K1672.07081687 D AS S o RAL 5017 8 M16 16 62,3 41,5 32 16,6 7 10 24 2,3 15 35
K1672.070816187 D AE S oa RAL 5017 8 M16x1,5 16 62,3 41,5 32 16,6 7 10 24 2,3 15 35
K1672.07101687 D AE S o3 RAL 5017 10 M16 16 62,3 41,5 32 166 7 10 24 2,8 15 35
K1672.071016187 D AMS S o RAL 5017 10 M16x1,5 16 62,3 41,5 32 16,6 7 10 24 2,8 15 35
K1672.07082087 D AE S ohE RAL 5017 8 M20 20 72,3 51,3 35 20,5 8,5 12 30 2,3 20 60
K1672.070820187 D AME S o3 RAL 5017 8 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 2,3 20 60
K1672.07102087 D A3 S o RAL 5017 10 M20 20 72,3 51,3 35 20,5 8,5 12 30 2,8 20 60
K1672.071020187 D AE S ma RAL 5017 10 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 2,8 20 60
K1672.07122087 D AE S o3 RAL 5017 12 M20 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60
K1672.071220187 D AS S o RAL 5017 12 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60
K1672.07041088 D 15t 2| RAL 7035 4 M10 10 39,5 26,3 20 10,9 49 6 17 1 8 14
K1672.070410188 D 45t &|A4 RAL 7035 4 M10x1 10 39,5 26,3 20 10,9 49 6 17 1 8 14
K1672.07051088 D 948t 3|4 RAL 7035 5 M10 10 39,5 26,3 20 10,9 49 6 17 1,3 8 14
K1672.070510188 D 948t 3|A4 RAL 7035 5 M10x1 10 39,5 26,3 20 10,9 49 6 17 1,3 8 14
K1672.07061088 D o4t 3|44 RAL 7035 6 M10 10 39,5 26,3 20 10,9 49 6 17 1,8 8 14
K1672.070610188 D Q1%t 3| M RAL 7035 6 M10x1 10 39,5 26,3 20 10,9 4,9 6 17 1,8 8 14
K1672.07051288 D 948t 3|A RAL 7035 5 M12 12 48,4 31,1 25 129 5,7 8 19 1,3 8 15
K1672.070512188 D o4t &|A4 RAL 7035 5 M12x1,5 12 48,4 31,1 25 129 57 8 19 1,3 8 15
K1672.07061288 D 948t 3|A4 RAL 7035 6 M12 12 48,4 31,1 25 12,9 57 8 19 1,8 8 15
K1672.070612188 D 48t 3|24 RAL 7035 6 M12x1,5 12 48,4 31,1 25 129 57 8 19 1,8 8 15
K1672.07081288 D o4t 3| A4 RAL 7035 8 M12 12 48,4 31,1 25 129 57 8 19 2,3 8 15
K1672.070812188 D 48t 3|A4 RAL 7035 8 M12x1,5 12 484 31,1 25 12,9 57 8 19 2,3 8 15
K1672.07061688 D 48t 3|A4 RAL 7035 6 M16 16 62,3 41,5 32 166 7 10 24 1,8 15 35
K1672.070616188 D 45t &|A4 RAL 7035 6 M16x1,5 16 62,3 41,5 32 166 7 10 24 1,8 15 35
K1672.07081688 D 948t 3|A4 RAL 7035 8 M16 16 62,3 41,5 32 16,6 7 10 24 2,3 15 35
K1672.070816188 D 48t 3|24 RAL 7035 8 M16x1,5 16 62,3 41,5 32 166 7 10 24 2,3 15 35
K1672.07101688 D 45t &|A4 RAL 7035 10 M16 16 62,3 41,5 32 166 7 10 24 2,8 15 35
K1672.071016188 D 948t 3|A4 RAL 7035 10 M16x1,5 16 62,3 41,5 32 16,6 7 10 24 2,8 15 35
K1672.07082088 D o4t 3|44 RAL 7035 8 M20 20 72,3 51,3 35 20,5 8,5 12 30 2,3 20 60
K1672.070820188 D o4t &|A4 RAL 7035 8 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 2,3 20 60
K1672.07102088 D 18t 3| RAL 7035 10 M20 20 72,3 51,3 35 20,5 8,5 12 30 2,8 20 60
K1672.071020188 D 45t 3|44 RAL 7035 10 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 2,8 20 60
K1672.07122088 D 4%t &|A4 RAL 7035 12 M20 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60
K1672.071220188 D Q18t 3| RAL 7035 12 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  4/4



